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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.7411 ±Constant = 6.846 

 0.3297 ±Mean     = 162.1 
 0.2331 ±Sigma    =  3.73 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.7411 ±Constant = 6.846 

 0.3297 ±Mean     = 162.1 
 0.2331 ±Sigma    =  3.73 
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Chip 1 Vt50 at 2.00fC Nent = 128    
  1.06 ±Constant = 9.788 

 0.2306 ±Mean     = 160.1 
 0.163 ±Sigma    = 2.609 

Chip 1 Vt50 at 2.00fC Nent = 128    
  1.06 ±Constant = 9.788 

 0.2306 ±Mean     = 160.1 
 0.163 ±Sigma    = 2.609 

Vt50 (mV)110 120 130 140 150 160 170 180 190 200

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.054 ±Constant = 9.699 

 0.2318 ±Mean     = 159.6 
 0.1639 ±Sigma    = 2.612 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.054 ±Constant = 9.699 

 0.2318 ±Mean     = 159.6 
 0.1639 ±Sigma    = 2.612 
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Chip 3 Vt50 at 2.00fC Nent = 127    
 1.237 ±Constant = 11.38 

 0.1975 ±Mean     = 158.8 
 0.1396 ±Sigma    = 2.225 

Chip 3 Vt50 at 2.00fC Nent = 127    
 1.237 ±Constant = 11.38 

 0.1975 ±Mean     = 158.8 
 0.1396 ±Sigma    = 2.225 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.669 ±Constant =  6.18 

 0.3652 ±Mean     = 159.4 
 0.2582 ±Sigma    = 4.132 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.669 ±Constant =  6.18 

 0.3652 ±Mean     = 159.4 
 0.2582 ±Sigma    = 4.132 
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Chip 5 Vt50 at 2.00fC Nent = 126    
 1.043 ±Constant = 9.557 

 0.2343 ±Mean     = 157.8 
 0.1657 ±Sigma    =  2.63 

Chip 5 Vt50 at 2.00fC Nent = 126    
 1.043 ±Constant = 9.557 

 0.2343 ±Mean     = 157.8 
 0.1657 ±Sigma    =  2.63 
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Chip 0 Gain at 2.00fC Nent = 128    
 1.823 ±Constant = 16.84 

 0.134 ±Mean     = 56.88 
 0.09476 ±Sigma    = 1.516 

Chip 0 Gain at 2.00fC Nent = 128    
 1.823 ±Constant = 16.84 

 0.134 ±Mean     = 56.88 
 0.09476 ±Sigma    = 1.516 
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Chip 1 Gain at 2.00fC Nent = 128    
 2.381 ±Constant =    22 
 0.1026 ±Mean     = 56.41 
 0.07254 ±Sigma    = 1.161 

Chip 1 Gain at 2.00fC Nent = 128    
 2.381 ±Constant =    22 
 0.1026 ±Mean     = 56.41 
 0.07254 ±Sigma    = 1.161 
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Chip 2 Gain at 2.00fC Nent = 128    
 2.053 ±Constant = 18.96 

 0.119 ±Mean     = 56.69 
 0.08414 ±Sigma    = 1.346 

Chip 2 Gain at 2.00fC Nent = 128    
 2.053 ±Constant = 18.96 

 0.119 ±Mean     = 56.69 
 0.08414 ±Sigma    = 1.346 
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 2.066 ±Constant = 19.01 
 0.1183 ±Mean     = 56.36 
 0.08362 ±Sigma    = 1.333 

Chip 3 Gain at 2.00fC Nent = 127    
 2.066 ±Constant = 19.01 

 0.1183 ±Mean     = 56.36 
 0.08362 ±Sigma    = 1.333 
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Chip 4 Gain at 2.00fC Nent = 128    
 1.577 ±Constant = 14.57 

 0.1549 ±Mean     = 56.77 
 0.1095 ±Sigma    = 1.753 

Chip 4 Gain at 2.00fC Nent = 128    
 1.577 ±Constant = 14.57 

 0.1549 ±Mean     = 56.77 
 0.1095 ±Sigma    = 1.753 
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Chip 5 Gain at 2.00fC Nent = 126    
 1.568 ±Constant = 14.37 

 0.1558 ±Mean     = 57.05 
 0.1102 ±Sigma    = 1.749 

Chip 5 Gain at 2.00fC Nent = 126    
 1.568 ±Constant = 14.37 

 0.1558 ±Mean     = 57.05 
 0.1102 ±Sigma    = 1.749 
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Chip 0 Extrapolated Offset Nent = 128    

 1.659 ±Constant = 15.32 
 0.2946 ±Mean     = 49.34 
 0.2083 ±Sigma    = 3.333 

Chip 0 Extrapolated Offset Nent = 128    
 1.659 ±Constant = 15.32 

 0.2946 ±Mean     = 49.34 
 0.2083 ±Sigma    = 3.333 
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Chip 1 Extrapolated Offset Nent = 128    
 2.137 ±Constant = 19.74 

 0.2286 ±Mean     = 47.11 
 0.1617 ±Sigma    = 2.587 

Chip 1 Extrapolated Offset Nent = 128    
 2.137 ±Constant = 19.74 

 0.2286 ±Mean     = 47.11 
 0.1617 ±Sigma    = 2.587 
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Chip 2 Extrapolated Offset Nent = 128    

 2.156 ±Constant = 19.84 
 0.2258 ±Mean     = 46.25 
 0.1606 ±Sigma    = 2.553 

Chip 2 Extrapolated Offset Nent = 128    
 2.156 ±Constant = 19.84 

 0.2258 ±Mean     = 46.25 
 0.1606 ±Sigma    = 2.553 
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Chip 3 Extrapolated Offset Nent = 127    
 3.223 ±Constant = 29.66 

 0.1516 ±Mean     = 46.56 
 0.1072 ±Sigma    = 1.708 

Chip 3 Extrapolated Offset Nent = 127    
 3.223 ±Constant = 29.66 

 0.1516 ±Mean     = 46.56 
 0.1072 ±Sigma    = 1.708 
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Chip 4 Extrapolated Offset Nent = 128    
 1.248 ±Constant = 11.53 

 0.3914 ±Mean     = 44.87 
 0.2768 ±Sigma    = 4.428 

Chip 4 Extrapolated Offset Nent = 128    
 1.248 ±Constant = 11.53 

 0.3914 ±Mean     = 44.87 
 0.2768 ±Sigma    = 4.428 
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Chip 5 Extrapolated Offset Nent = 126    
 2.869 ±Constant = 26.29 

 0.1703 ±Mean     = 43.71 
 0.1204 ±Sigma    = 1.912 

Chip 5 Extrapolated Offset Nent = 126    
 2.869 ±Constant = 26.29 

 0.1703 ±Mean     = 43.71 
 0.1204 ±Sigma    = 1.912 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.656 ±Constant = 43.01 

 3.498 ±Mean     =  1437 
 2.474 ±Sigma    = 39.58 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.656 ±Constant = 43.01 

 3.498 ±Mean     =  1437 
 2.474 ±Sigma    = 39.58 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 5.166 ±Constant = 47.72 

 3.153 ±Mean     =  1395 
 2.229 ±Sigma    = 35.67 

Chip 1 Input Noise at 2.00fC Nent = 128    
 5.166 ±Constant = 47.72 

 3.153 ±Mean     =  1395 
 2.229 ±Sigma    = 35.67 
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Chip 2 Input Noise at 2.00fC Nent = 128    

 5.007 ±Constant = 46.26 
 3.253 ±Mean     =  1437 
   2.3 ±Sigma    =  36.8 

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.007 ±Constant = 46.26 

 3.253 ±Mean     =  1437 
   2.3 ±Sigma    =  36.8 
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Chip 3 Input Noise at 2.00fC Nent = 127    
 4.434 ±Constant =  40.8 

 3.673 ±Mean     =  1516 
 2.597 ±Sigma    =  41.4 

Chip 3 Input Noise at 2.00fC Nent = 127    
 4.434 ±Constant =  40.8 

 3.673 ±Mean     =  1516 
 2.597 ±Sigma    =  41.4 
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Chip 4 Input Noise at 2.00fC Nent = 128    
 3.725 ±Constant = 34.41 

 4.373 ±Mean     =  1434 
 3.092 ±Sigma    = 49.47 

Chip 4 Input Noise at 2.00fC Nent = 128    
 3.725 ±Constant = 34.41 

 4.373 ±Mean     =  1434 
 3.092 ±Sigma    = 49.47 
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Chip 5 Input Noise at 2.00fC Nent = 126    
 3.986 ±Constant = 36.53 

 4.086 ±Mean     =  1436 
 2.889 ±Sigma    = 45.86 

Chip 5 Input Noise at 2.00fC Nent = 126    
 3.986 ±Constant = 36.53 

 4.086 ±Mean     =  1436 
 2.889 ±Sigma    = 45.86 
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Chip 0 Vt50 at 2.00fC Nent = 126    
 1.511 ±Constant = 13.85 

 0.1617 ±Mean     = 159.3 
 0.1143 ±Sigma    = 1.815 

Chip 0 Vt50 at 2.00fC Nent = 126    
 1.511 ±Constant = 13.85 

 0.1617 ±Mean     = 159.3 
 0.1143 ±Sigma    = 1.815 
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Chip 1 Vt50 at 2.00fC Nent = 126    
 1.227 ±Constant =  11.2 

 0.1991 ±Mean     = 159.5 
 0.1408 ±Sigma    = 2.227 

Chip 1 Vt50 at 2.00fC Nent = 126    
 1.227 ±Constant =  11.2 

 0.1991 ±Mean     = 159.5 
 0.1408 ±Sigma    = 2.227 
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Chip 2 Vt50 at 2.00fC Nent = 127    
  1.03 ±Constant = 9.477 

 0.2372 ±Mean     = 162.3 
 0.1677 ±Sigma    = 2.673 

Chip 2 Vt50 at 2.00fC Nent = 127    
  1.03 ±Constant = 9.477 

 0.2372 ±Mean     = 162.3 
 0.1677 ±Sigma    = 2.673 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.726 ±Constant = 6.706 

 0.3365 ±Mean     = 159.8 
 0.2379 ±Sigma    = 3.807 
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 0.726 ±Constant = 6.706 

 0.3365 ±Mean     = 159.8 
 0.2379 ±Sigma    = 3.807 
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Chip 4 Vt50 at 2.00fC Nent = 125    
 1.239 ±Constant = 11.31 

 0.1971 ±Mean     = 160.4 
 0.1394 ±Sigma    = 2.204 

Chip 4 Vt50 at 2.00fC Nent = 125    
 1.239 ±Constant = 11.31 

 0.1971 ±Mean     = 160.4 
 0.1394 ±Sigma    = 2.204 

Vt50 (mV)120 130 140 150 160 170 180 190 200 210

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

Chip 5 Vt50 at 2.00fC Nent = 127    
 1.143 ±Constant = 10.52 

 0.2138 ±Mean     = 162.3 
 0.1511 ±Sigma    = 2.409 
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 1.143 ±Constant = 10.52 

 0.2138 ±Mean     = 162.3 
 0.1511 ±Sigma    = 2.409 
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 2.061 ±Constant = 18.89 

 0.1186 ±Mean     = 56.78 
 0.08383 ±Sigma    = 1.331 
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 2.061 ±Constant = 18.89 

 0.1186 ±Mean     = 56.78 
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 1.633 ±Constant = 14.91 
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